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Problem 1 (11 points)

a) (3 points)
Give a principal sketch for the practical realization of an observer-based state feedback
control for a MIMO system and denote the related parts. ' '
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b) (6 points)
State the poles of the system
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Judge the I/O-stability of the system. Conclude to the state-stability of the system.
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¢) (2 points)
Define the state stability of a dynamical system with the eigenvalues
A1 =24, A\g=-2+3j, and \y = —2 — 3j.
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Problem 2 (22 points)
In the following the system described by
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has to be analyzed.

a) (5 points)
State the eigenvalues of the system. For which values of a is the system asymptotic stable
according to Lyapunov?
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